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12.05 From the information provided in the question, determine the structure for both the product and the starting

material.

(a)

12.06 Provide a complete, stepwise mechanism for the following reaction.

Compound A
a ketone NaBH,
C,H,,0 - >

3 B3C-NMR signals CH,OH
2 TH-NMR signals

(6:1 ratio)
Compound C
an aldehyde 1) LiAIH,
CsHq00 — >

5 BC-NMRsignals ) H,0*
5 TH-NMR signals
(3:3:2:1:1 ratio)

Compound E
a ketone 1) CH;MgBr
CeH 1,0 NG

4 13C-NMR signals 5 H,0*
2 TH-NMR signals

(3:1 ratio)
Compound G
an aldehyde 1) CHCH, L i
CsH;,0 _—

5 13C-NMR signals 2) H,O*
5 TH-NMR signals
(3:2:2:2:1 ratio)

Br
NaBH,

—_—D

Compound B

a 2° alcohol

C,H;,0

3 13C-NMR signals

4 TH-NMR signals
(12:2:1:1 ratio)

Compound D

a 1% alcohol

C:Hy,0

5 13C-NMR signals

6 "H-NMR signals
(3:3:2:2:1:1 ratio)

Compound F

a 3° alcohol

C,H,; O

4 13C-NMR signals

3 TH-NMR signals
(9:6:1 ratio)

Compound H

a 2° alcohol

C,H;,0

7 13C-NMR signals

8 TH-NMR signals
(3:3:2:2:2:2:1:1 ratio)
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